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_3、、.是.If It isn't invertible, det A"0, det AB"det A de+13二0,so AB isn't invertible
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r Ie Īortdheirl4ǜ，n1，um2b，e3riisnnt千o i1,，2ex，c3ha，n4ge it with i.,so it needs 3 exchanges to

1叫：P1"=（-1）"=1

i1-_-det I:-|

Ihe cofactors of A is 13号1.li?l,lii1，1活1，1活1，1iil.li II,

B Neicaiuls,e 1Akan Cn -Glzcizt Gis Cl3 and Cl了二 li 到：0,so the value of a3

doesnt affect det A

8ihe area of the first parallelogram is 11⅔11：16-21二4

The area of the second one is 11⅔11=16-21--4

So they are the same
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The volume is 4 from lii到
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